Cll# JIuneiHple ypaBHEHUs ¢ NIEPEMEHHBIMU C 00EUX CTOPOH ~ Mwmsi:

Onpe)]eJmTe SHAYCHHC Y.

1)

2)

3)

4)

5)

6)

7)

(8-2y) = -5+2yx3-11

(6y-5) = -8y+9+42

9+(9%x3y) = (2x8+6y)+35

S5y-4 = 6y+4-52

542y-6 = 4yx8-4-267

(7x2y) = (4x6y)-60

7+4y = 5+9y+3-16

OTBeThI
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‘:llj_lj—‘ JInnenHwie YpaBHCHUA C IICPCMCHHBIMU C 00enx CTOPOH Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Onpe)]e.lmTe SHAYCHHC Y.

1)

2)

3)

4)

5)

6)

7)

(8-2y) = -5+2yx3-11
2=2

(6y-5) = -8y+9+42
19=19

9+(9%x3y) = (2x8+6y)+35
63 =63

S5y-4 = 6y+4-52
24 =24

542y-6 = 4yx8-4-267
17=17

(7x2y) = (4x6y)-60
84 = 84

7+4y = 5+9y+3-16
19=19

OTrBeTHI
1. 3
2. 4
3 2
4 4
5 9
6 6
7 3
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